MATH 290 - QUIZ #4

Name: (Mbﬂ/

Directions: Please show all work for maximum credit. This quiz is worth 16 points. Good

luck!

(3 points) 1. Solve the following differential equation by using the superposition approach.
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(5 points) 2. Solve the following differential equation by using annihilators.
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(6 points) 3. Solve the following differential equation by using variation of parameters.
y'+y=cscx
7
9+ y =0

.
m L= o
m = £}

Dz C posvs Cy Sinx

gr: u‘ oS ki (/{),Sli’{\é_

( u/ os v 4—(@’ Sime =0 )5/4!(

f
(=0 sinv v w Cosy - esov ) gt x

[ 2
A Cos ¢ sinn L W dmx =0

! &
—u/ S oty YUy ol = cod

w' = et
Uy = faoswd%
W= Julsmel

U/ cose + (ody Sink =D

W/ 2o ¥ = — LS %

l/t//; = |
‘M/}', —fo(sL

(4/: — X Lo Sy +ﬂw[5/n¥/9h&

9 = () LS¥ ’L@{M%* L oS st + Sink éhfﬁfmfl



